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KRAHE REHMEXREZE 0157 =
BR{FIFDY REHmMEXREZE 0157 =
HM=E REHmMEXREZE 0157 = 1
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BHEF—X fREHmMEXEZE 0157 =
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HKBAY fREHMMEXREBEE 0157 b2
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YINF—X frEHMmMEKRBE 0157 = %
YIRI—H)Y fREHMmMERZE 0157 = %
FaaFyS fREHMmMERZE 0157 = %
FaaL—roU—L frE M KBE 0157 b= %
LEYHALHT fREHMmMERIZE 0157 = %
DEZAITRL(AYR) frEHMmEXZE 0157 = %
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BX fREHmMEXREZE 0157 = %
EHE REHmMEXRBZE 0157 = %
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REESV NN frEHMmMMEKRBE 0157 = %
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BEH<H BEHMEXEZE 0157 =




IR26F5AFAD RERBR

BRE BAEFBEERITETREHRE

B & % B % HE B BE®E
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AEOOEF fREHMmMERZE 0157 = %
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BEIAF—1ecmhvbHLUE fREHMEXBE 0157 = %
MEITHIT fREHMERIZE 0157 = %
AEITHIT (hyk) fREHMEXBZE 0157 = 1
MHEIEA REHMmMERZE 0157 = %
MEBDG REHMERZE 0157 = %
MERDOERR fREHMEKXEE 0157 = 1
MERDOERADL fREHMEXREE 0157 =
mRRIELIBA fREHMERIZE 0157 = %
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MRELOA fREHMmMERZE 0157 = %
MRETRAD fREHMmMERZE 0157 = %
MEEREO fREHMmMERIZE 0157 = %
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AR fREHMmMERIZE 0157 = %
BETVDD (DD -#3T) fREHMERZE 0157 = %
BERITIE—X fREHMERZE 0157 = %
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AELLeE (3 1) BEHMEXREBE 0157 =
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MEEHADR fREHmMEXEZE 0157 =
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MRER fREHMmMERZE 0157 = %
MRESIBLAHIL REHMmMERZE 0157 = %
ARESBAILECL REHmMEXRBE 0157 =
mREE fREHMERIZE 0157 = %
ARIERR (A ) fREHmMEXREZE 0157 = 1
ARBEAE(O—X) fREHMERZE 0157 = %
AEBRALL REHMEXEZE 0157 =
ARBEALD () REHmMEXREZE 0157 =
ARIZARRTNOIU D)) REHMERZE 0157 = %
MRIZVITIVNAYE fREHMEXZE 0157 = %
BER—a (k) fREHMmERZE 0157 = %
AERILRNL (BYR) frEHMEXBE 0157 = %
AERILRNL FEFARYD) fREHmMEKREZE 0157 =
MREITIIA fREHMmMEKIZE 0157 = %
MEIZEBIT fREHMmMERZE 0157 = 1




IR26F5AFAD RERBR

BRE BAEFBEERITETREHRE

B & % B & E A BE®E
MRIZ A F— fREHMmMERZE 0157 =
ARLEZAY frEHMmEKRIBE 0157 = %
MRLEELE g M RBE 0157 = %
AEBYHL frE M KRBE 0157 = %
AEBRE (k) fREHMEXREE 0157 = %




